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/ﬁi@ Checking and Estimating

1. Dawn does the sum 341 + 126 = 467 in a maths lesson.

What inverse calculation could she use to check her answer? Tick the box.

467 + 126 = 341 341126 = 467 467 — 126 = 341

2. 360+ 120 =3,

Circle the multiplication below that correctly uses the same numbers.

— A—
360 %120 =3 i L120x3=360 1

i 360 x 3 =120 ;

3. Draw a line to join each calculation to its inverse. One has been done for you.

1§ + 3 =18 45 + 3 =15
15+3=5 \18—3=15
15 x 3 = 45 18 + 3 = 21
21 -3 =18 5x 3 =15

4. Here are some multiplications.

For each multiplication, write a division that uses the same numbers.

49 x 3 = 147 +

286 x 19 = 5434 * =




